FREEZIN' GREETINGS

PA-1244 ON SALE NOW

l WHEN YOU REVEAL 3 IDENTICAL SYMBOLS 2
E IN THE SAME ROW, WIN CORRESPONDING R
PRIZE SHOWN IN THE PRIZE LEGEND.
A CHANCES ARE  CONSOLIDATED
WIN WITH: WIN: TIN: CHANCES ARE 1 IN:
s 3 TREE SYMBOLS $3 9.09 $3=9.09
E 3 EARMUFFS SYMBOLS $5 12.50 $5=12.50
(3 EARMUFFS SYMBOLS) x 2 $10 100.00
3 SLEIGH SYMBOLS $10 100.00 $10 = 50.00
P (3 TREE SYMBOLS) x 5 $15 200.00
o (3 EARMUFFS SYMBOLS) x 3 $15 200.00
3 SLEIGH SYMBOLS + 3 EARMUFFS SYMBOLS $15 250.00
s 3 GOGGLES SYMBOLS MH 250.00 $15=155.56
(3 EARMUFFS SYMBOLS) x 6 $30 500.00
T (3 SLEIGH SYMBOLS) x 3 $30 1,000
(3 GOGGLES SYMBOLS) x 2 $30 1,000
P ((3 EARMUFFS SYMBOLS) x 3) + ((3 TREE SYMBOLS) x 5) $30 500.00
((3 SLEIGH SYMBOLS) x 2) + ((3 EARMUFFS SYMBOLS) x 2) $30 500.00
l 3 HAT SYMBOLS $30 500.00 $30 =100.00
(3 EARMUFFS SYMBOLS) x 10 $50 3,000
E (3 SLEIGH SYMBOLS) x 5 $50 3,000
((3 EARMUFFS SYMBOLS) x 4) + 3 HAT SYMBOLS $50 3,000
A ((3 SLEIGH SYMBOLS) x 2) + 3 HAT SYMBOLS $50 3,000
((3 GOGGLES SYMBOLS) x 3) + 3 EARMUFFS SYMBOLS $50 3,000
s ((3 GOGGLES SYMBOLS) x 2) + ((3 SLEIGH SYMBOLS) x 2) $50 3,000
((3 EARMUFFS SYMBOLS) x 5) + ((3 TREE SYMBOLS) x 5) + 3 SLEIGH SYMBOLS $50 3,000
E ((3 SLEIGH SYMBOLS) x 2) + ((3 EARMUFFS SYMBOLS) x 3) + ((3 TREE SYMBOLS) x 5)  $50 3,000
3 SCARF SYMBOLS $50 3,000 $50 = 333.33
P (3 SLEIGH SYMBOLS) x 10 $100 4,800
(3 SCARF SYMBOLS) x 2 $100 4,800
o ((3 EARMUFFS SYMBOLS) x 10) + 3 SCARF SYMBOLS $100 4,800
((3 SLEIGH SYMBOLS) x 5) + 3 SCARF SYMBOLS $100 4,800
s ((3 GOGGLES SYMBOLS) x 6) + ((3 EARMUFFS SYMBOLS) x 2) $100 4,800
T ((3 GOGGLES SYMBOLS) x 4) + ((3 SLEIGH SYMBOLS) x 4) $100 4,800
((3 GOGGLES SYMBOLS) x 2) + ((3 SLEIGH SYMBOLS) x 7) $100 4,800
((3 HAT SYMBOLS) x 3) + ((3 EARMUFFS SYMBOLS) x 2) $100 4,800
P ((3 GOGGLES SYMBOLS) x 2) + ((3 EARMUFFS SYMBOLS) x 8) + 3 HAT SYMBOLS $100 4,800
3 CABIN SYMBOLS $100 4,800 $100 = 480.00
l (3 HAT SYMBOLS) x 10 $300 60,000
E (3 SCARF SYMBOLS) x 6 $300 60,000
(3 CABIN SYMBOLS) x 3 $300 60,000
A ((3 SCARF SYMBOLS) x 3) + ((3 HAT SYMBOLS) x 5) $300 60,000
3 MITTEN SYMBOLS $300 60,000 $300 = 12,000
s (3 CABIN SYMBOLS) x 10 $1,000 480,000
3 SNOWFLAKE SYMBOLS $1,000 480,000 $1,000 = 240,000
E (3 MITTEN SYMBOLS) x 10 $3,000 960,000
(3 SNOWFLAKE SYMBOLS) x 3 $3,000 1,920,000
P 3 JACKET SYMBOLS $3,000 1,920,000 $3,000 = 480,000
o 3 PENGUIN SYMBOLS $75,000 960,000  $75,000 = 960,000
s EACH ROW IS PLAYED SEPARATELY. OVERALL CHANCES
OF WINNING: 1 in 4.11
T Prizes, including top prizes, are subject to

availability ot the time of purchase.




